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BT-03
June - Examination 2017
BSC - Pt. | Examination
Developmental Biology and Biostatistics
Paper - BT-03
Time : 3 Hours ] [ Max. Marks :- 50

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: Ig ued ux ‘o', ‘¥’ IR ‘W fiF @Wuel § A g1 udd
Gus & MGATTAR AT & IR QIS

Section - A 10x1=10
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 1 mark.

Qus - ‘37’
(rfer Ty IR Ue)
Ader : Tt weAl & IR ST 31T 310 TR DI WATTHAR Th 916G,
T Iy AT ferpad 30 orsgl H uRAfg Hifviel e ueT
1 3P & Bl
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What is Embryogenesis?

JUIGHT T g ?

Define Vitellogenesis.

e S @1 aR9Iia S

What is Amphimixis?

S fAsr = 82

What are Morphogenetic movements.

T farT TfeaT aam g2

What do you understand by the term Neurulation?

~JHATHIT A 37T FIT FHSI 8 ?

What is teratology?
fopuarfas a1 g ?

(vii) Define Transplantation.

YIRIYY ! GRYTRT HifsTe|

(viii) Nlustrate the term Ageing.

(ix)

(x)

STTofaT T aRWINE BIfg)

What is double fertilization?

fe—fes @ 8?2

What is Female Gemetophyte?

HIGT ZHDIGING &1 & ?
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Section - B 4x5=20
(Short Answer Questions)

Note: Answer any four questions. Each answer should not

exceed 200 words. Each question carries 5 marks.

(Tvs - 9)
(oTg IR 99)

fAder: fhgl IR WAl & IR SN 3T 3 IR Dl 3Ffehad

200 gree) o AT HIRTTI T U9 5 37! & gl

Explain briefly the mechanism of Oogenesis.

3IUSTU] ST bl feharm fafey a1 etg o quie s

Write the characteristics of cleavage.

fage™ & s1fYyeremr foaRaul

Write a short note on Blastulations.

PRH Yaq W Uep Ffereg fewul} fokau)

Enumerate the Genetic control of pattern formation.

yfcRey fofor & S FrRsr 6 fad=mr il

Explain the following.

(i) Induced Breeding

(i) Transgenesis

=1 P! FHsIRYl

() IR U=

(i) IO

Comment upon the significance of stem cells.

T piferepratt it Freferdr w feuguft HIfT|
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Write a note on pollination and pollen-pistil Interaction.

RN AT TRET-STRART 3= fopam tep oig forRau|

Calculate the mode of the following frequency distribution.
=1 SRERAT g7 BT Sgeteh i i

x:0l1]2]3]4]5]6]7
fals|7]e6els8]7]8]5s

Section-C 2X10=20
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each

answer maximum up to 500 words. Each question carries
10 marks.

(Tvs - W)
(Sref TR ¥ed)

fAder : gl @ U9l & IR SINTTI 31T 3199 IR B 31frhad 500

grecl o g Hifl U U9 10 3T &7 Bl

10) Write a detailed note on parthenogenesis.

31 S &R U foRga Ale faRag|

11) Explain in detail the organ development from the ectoderm.

Tgcled & 37 T & IR H faeaR ¥ 9=

12) Write notes on:

(i) Endosperm development & its types
(ii) Histology of Endosperm

= ) @ faRau)
(i) OIS BT fAPRT TAT HHR
(i) OIS T STk
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13) Calculate the mean deviation with respect to median for the
following frequency distribution.

o IRIRAT s & forv Tifedrepr & I A1y faaed §d

Class interval
0-10 |10-20{20-30|30-40{40-50|50-60({60-70
(ot 3r=RTed)
Frequenc
(Frequency) 1 10 | 15 | 30 | 20 | 10 | 10 | o5
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